EBwW 100 kH= Marker 1 [T1 ]
Plot H6a.1 VBW 300 kH=z 20.47 dBm

Retf Z20.5 dBm Att 30 dB SWT 250 ms £2.405038000 GH=
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EBwW 100 kH= Marker 1 [T1 ]
Plot H6a.2 VBW 300 kH=z 20.07 dBm

Fetf Z20.5 dBm Att 30 dB SWT 2.3 = £2.368000000 GH=
— -
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EEBEW 100 kH T+41 = 1 T1
Plot H6b.1 z Marker 1 [T1 ]
WBEW 300 kH= 19.50 JAdBm

Ref Z20.5% 4dBPm ATt 30 dB SWT 250 ms 2.445022000 GHz
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EBwW 100 kH= Marker 1 [T1 ]
Plot Heb.2 WBW 300 kHz 19.84 dBm

Ref Z20.5 dBm Att 30 dB SWT 2.3 = £2.414000000 GH=

—
o COffpet 0.5 dB

— S0

—— &0

Start Z GH= 2.3 GH=/ Stop Z25 GH=



EBwW 100 kH= Marker 1 [T1 ]
Plot H6c.1 BW 300 kH= 20.0%8 dBm

Retf Z20.5 dBm Att 30 dB SWT 250 ms 2.480008000 GH=
= =
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Plot H6C.2 EBwW 100 kH= Marker 1 [T1 ]
ot Hec. VBW 300 kHz 20.16 dBm

Ref Z20.5 dBm Att 30 dB SWT 2.3 = Z2.460000000 GH=
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Plot H6d.1 RBwW 100 kH= Delta 1 [T1 ]
VBW 300 kHz ~56.81 dB
Ref 20.5 dBm Att 30 dB SWT 2.5 ms ~1.590000000 MHZ
v
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EBW 100 kH=z Delta 1 [T1 ]
Plot H6d.2 WBW 300 kH=z —-65.592 dB
Retf 20 .51dBm Att 30 dB SWT Z.5 ms 5.208000000 MH=
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